y =f(x)+b

| lapasaeabHBIVI ITIEPEHOC BAOAL OCU OpAVIHAT

— —

+- —t— —t

y

A

3.




y = f(x+a)
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Yy = cos(x
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y = mf(x), rae m>1
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y = mf(x), rae 0<m<1 .
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y = mf(x), rae m=-1
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y = mf(x), rae m<0
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y = f(kx), rae k>1
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y = f(kx), rae 0<k<l1
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y = f(kx), rae k=-1
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y = f(kx), rae k<0 A

N

YV ==

-

-3cos(—2x)

.

—

37r‘ .2,




y = sin2x y = sin0,5x y = 0,5sinx y = 2sinx
y = 2sin(—0,5x) y = —2sinZx y = —2sin0,5x [
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y = cos(—2x)
X

Y = COS2X

y = 1,5co0s3x

y = 1,5cosx Al

Yy = 2C0SX
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y = —%cosx+2 y = —331n(x+%)

y = 1,5cos(x — 2?77) y = 2sin(—3x)



